NIgt:(1241) %

o2k

NIAIEE: (110) el 4]

o

[H12tA] (

&t £ |

l

1241

k2t

100

a0

110

—

el la]

101

el 2 i

1
i

8
— T

o P
B

Il

33

A CF
T

o

9,622 X1 X30Al 2 X122 =3,464,000&

9,4713X12IX30Al 2 X122 =3,410,000&

8, 1653 X521 X30Al 2HX12&=14,697,000&

8,036 X521 X30Al 2HX12&=14,465,000&

7,325 X9QIX30Al 2HX12&=23,733,000&

& 7,210& X921 X30Al 2tX12&=23,361,000&

6,564 X5 X30Al 2tX12&=11,816,000&

JE
- Jls6s

=k

6,4613 X5 X30AI 2-X12&=11,630,000&

8,165 X22IX30Al 2HX12&=5,879,000&

54

232

372

186




Z:(1000) & BHe H Hi H &I a(1240) S HH Mgt (1241) 2 2k NIAIE:(110) el 24| (M2t ] (St E &
ST _ _
N R T . = ! -
= 93
JIE 8,036& X221 X30Al 2tX12&=5,786,000&
- Jlsr7s
38 7,325 X621 X30Al 2tX12E=15,822,000&
= 248
JIE 7,210& X621 X30Al 2tX12&=15,574,000&
- Jls88
28 6,5642X221X30AI 2tX12&=4,727,000&
= 75
JIE 6,461&AX2C1X30A1 2 X123 =4,652,000&
- JIs928
28 5,8873X421X30AI 2tX12&=8,478,000&
= 134
JIE 5,7943A X421 X30A1 2-X12&=8,344,000&
- JIs10=s
28 5,326R X221 X30Al 2tX12&=3,835,000&
= 60
JIE 5,2423 X221 X30Al 2-X12&=3,775,000&
26,880 7,680 19,200|10 LAIAISE I E Y
O HdA==2 LHMZAL LAAE 12
- 32,000& X 20¢! X 30& = 19,200
13c> ul 276,672 250,440 26,232
=24 232,872 211,140 21,732
232,872 211,140 21,732|01 B2 & Hl




(1000) LB AY|  2:(1200) L UraFY| 8 (1240) T 2 8 HIE: (1241) 2Dk 22 HIKIE : (120) 2 4 = 2| (M2 (298
J| S ] _
nl = 01|&%01|&%§ = &t = | x
O MM MSHCLLUHBLL2(2S 2 AR
- 5,422,0009 X 1149 - 5,422
O BEXNYHMAALEMBICOAT DL (H2AIH)
- 1,360,0002 X 5f - 6,800
O HEZSAINZA 4F 242
- FF 1,6008 X 25,0002 = 40,000,000
: - 7,000
- J1® 1,3209 X 25,0002 = 33,000,000%
O AZSYHIA DAY B2 ZRiH EHPY
- 255,0002 X 2} - 510
O AZSAMENDVADAHASEL AR
- 40,0008 X 508f A - 2,000
202
01 bl 35,640 31,140 4,500
35,640 31,140 4,500{01 =01 bl
O NYMIHE XNLA DMIELHEA
- 20,0008 X 52 X 103 - 1,000
O NLHYD IS EF3 DSEHA
- 50,0008 X 32! X 103 - 1,500
O A=2 LHZA
- 20,0008 X 291 X 52 X 1029 - 2,000




1(1000) & EHe H Hi 2t:(1200) & Bra8 FH a(1240) S HH Mg (1242) 3 Al & el NIAIE:(110) el 24| [HH2A] (e &R
J| s - _
ni = Gl &F oM of AF OH s A & &k = | =
1242
2| Al 2t el 29,698,353 29,673,257 25,096
100
3 a0l &t 29,698,353 29,673,257 25,096
110
el dl 26,729,882 26,714,286 15,596
101
el 26,729,882 26,714,286 15,596
3,538,890 3,523,542 15,348102 =<

D B 9,622 X32IX15A1 2tX12& =5,196,000&

D JIE 9,471 X3RIX15A12tX12&=5,115,000&

B 8,165 X12IX15A12tX12& =1,470,000&

D JIE 8,036 X12IX15A12tX12&=1,447,000&

D BE 7,325 X201X15A1 2tX12&=2,637,000&

D IJIE 77,2103 X221 X15A1 2tX12&=2,596,000&

B 6,564 X12IX15A12tX12& =1,182,000&

D JIE 6,461& X1QIX15A12tX12&=1,163,000&




(1242) 3| H & el

NIAIEE: (110) el 4]

[H12tA] (

m

P
0

A =

—

|

B

o 38 6,564 X12IX15A1 2HX12E =1

, 182,

000&

D JIE 6,461 X12IX15A12HX128 =1,

s9s

48 5,887 X20IX15A1 2tX12& =2,

163,

120,

000

000&

D JIE 5,794 X201 X15A1 2HX12& =2,

O J12 0f &k &

- xzn224

A C

-

o

& 8,165 X42IX15A1 2tX128 =5,

086,

879,

000

000

D JIE 8,036F X421X15A12HX12E =5,

 B3F 7,325 X72IX15A1 2HX128 =0,

786,

230,

000

000&

D JIE 7,210 X72IX15A1 2HX12E =9,

B 6,564 X22IX15A1 2HX128 =2,

085,

364,

000

000

D JIE 6,461 X2Q1X15A1 2tX12&=2,326,

=10

D BE 5,326 X12IX15A1 2tX12&=959,000&

000&

D JIE 5,242 X121 X15A1 2EX12E =944 ,000&

O M

- ZUIRE

ct
o

19

34

93

145

38

15




NIAIEE: (110) el 4]

[H12tA] (

m

P
0

&t £ |

P

D EE 9,622 X12IX15A12tX12&=1,732,000&

D OJIE 9,471 X1QIX15A12tX12&=1,705,000&

B 8,165 X521 X15A1 2tX12& =7,349,000&

D JIE 8,036& X5QIX15A12tX12&=7,233,000&

» BE 7,3253X9RIX15A12EX128=11,867,000&

D™ 7,2103 X9 X15A1 2tX12&=11,681,000&

B 6,5643X52IX15A12tX12& =5,908,000&

D JIE 6,461 X5QIX15A12tX12&=5,815,000&

Js6s

B 8,165 X221 X15A1 2tX12& =2,940,000&

D JIE 8,036& X2QIX15A1 2tX12&=2,893,000&

s7s

: BE 7,325 X621 X15A1 2tX12&=7,911,000&

D I8 7,2103 X6 X15A1 2tX12&=7,787,000&

s8s

B E 6,564 X20IX15A1 2tX12&=2,364,000&

27

116

186

93

47

124

38




Mgt (1242) 31 A

| 2tel

NIAIEE: (110) el 4]

[H12tA] (

m

ra
0

&t £ |

B

O

S IJIE
=92

=F

6,461& X221 X15AI 2tX12&8 =2,326,

5,8873X4IX15A1 2tX12&=4,239,

000&

000

S JlE
JIs1028

g

5,794F X421 X15AI 2t X128 =4,172,

5,326 X2 X15A1 2tX12&=1,918,

000&

000

c Il E

o8
o

- =1

0

=

=}
o~

1=

5,242 3 X201 X15A1 2tX123=1,888,

= Akt

A CH
T o

9,622 X12IX15A1 2tX12&=1,732,

000

000

9,471&X12IX15A1 2tX12&=1,705,

8, 1653 X521 X15A1 2tX12& =7,349,

000&

000

8,036 X5QIX15AI 2tX12& =7,233,

7,325@ X621 X15A1 2tX12&=7,911,

000

000&

7,2103 X621 X15A 2+ X128 =7,787,

6,564 X72IX15AI 2tX12&=8,271,

000

000&

6,461 3 X7CIX15A1 2tX123 =8, 148,

000

67

30

27

116

124

130




(1242) 3| H & el

NIAIEE: (110) el 4]

[H12tA] (

m

ra
0

Ab =

—

|

B

Js1028

838 5,

326 A X3RIX15AI 2+ X128 =2,

877,

000

: Dorlx‘i 97

6223 X121 X15A1 2tX12& =1

,831,

, 732,

000

000&

CJIE 9,

- &8 8,

A7TTEX12IX15AI 2HX12E =1

1653 X491 X15A1 2tX12& =5,

, 705,

879,

000

000&

JIE 8,

B8 7,

036 & X42IX15A 2+ X12& =5,

3253 X491 X15A1 2tX12& =5,

786,

274,

000

000&

S J1E 7,

. A 6,

2103 X42IX15A1 2+ X128 =5,

5643 X321 X15AI 2tX12& =3,

192,

545,

000

000&

cJIE 6,

. 3% 5,

4613 X3 X15A1 2HX12& =3,

8873 X121 X15AI 2HX12& =1

489,

,060

000

,000&

JIE 5,

=92

7943 X121 X15AI 2HX12E =1

,043,

000

46

27

93

82

56

17




&:(1000) L Bt A H| 20:(1200) L Bre A H| S(1240) R A MI&: (1242) 3 Hl 22l NIAIEE: (110) 2124l [H12A] (S & &
=2 OH % 3 = ) = =

B 5,887&X12IX15A12tX12& =1,060,000&

D JIE 5,794 X1QIX15A1 2tX12&=1,043,000&
JIs1038

o 38 5,326 X12IX15A1 2tX12&=959,000&

D JIE 5,242 X12IX15A1 2tX12& =944 ,000&
O Ax&dE

A CH
T

)
e o

& 9,622 X12IX15A12HX12&8=1,732,000&

D IJIE 9,471 X1QIX15A12tX12&=1,705,000&

B E 8,165 X4QIX15A1 2tX12&=5,879,000&

D JIE 88,0363 X4QIX15A1 2tX12&=5,786,000&

D BE 7,325 X401X15A1 2tX12&8=5,274,000&

D IJIE 77,2103 X421 X15A1 2tX12& =5,192,000&

ju—}

: BE 6,564 X3CIX15A1 2tX12&=3,545,000&

D JIE 6,4613X32IX15A12tX12& =3,489,000&
Js1038

D BE 5,326 X2QIX15A12tX12&=1,918,000&

17

15

27

93

82

56




(1242) 3| H & el

NIAIEE: (110) el 24

[H12tA] (

m

ra
0

Ab =

|

B

D JIE 5,242 X201 X15A1 2HX12E =1

& 9,622 X12IX15A1 2tX12& =1

,888,

, 132,

000

000

9,471&X12IX15A1 2EX12E =1

8, 1653 X5QIX15A1 2tX12& =7,

, 705,

349,

000&

000

8,036& X5 X15AI 2tX12& =7,

7,3253X6RIX15AI 2+ X128 =7,

233,

911

000&

,000&

7,210& X621 X15A1 2tX12&8 =7,

6,564 X2CIX15A1 2tX12& =2,

787,

364,

000&

000

A& 5,887FX2QIX15AI2FX12& =2,

& 6,461 X221 X15A12HX12E =2,

326,

120,

000&

000

DI

Js1028

5,794 X221 X15A1 2 X128 =2,

086,

000&

D BE 5,326@X12IX15A1 2tX12&=959,000&

30

27

116

124

38

34

15

10




0
40
o
0

(1242) 3| H & el NIAIEE: (110) el 4] [H12tA] (

&t £ |

P

D JIE 5,242 X121 X15A1 2EX12E =944 ,000&
O s3/dun

o A C
T o

-

D BE 9,622 X12IX15A12tX12&=1,732,000&

D OJIE 9,471 X1QIX15A1 2tX12&=1,705,000&

o B8 8,165 X4QIX15A1 2tX12&=5,879,000&

D JIE 8,0363 X4Q1X15A1 2tX12&=5,786,000&

D BE 7,325 X62IX15A12tX12&=7,911,000&
= 124

D OJIE 7,2103 X6 X15A1 2tX12&=7,787,000&

B8 6,564 X8LIX15A1 2tX12&=9,453,000&
= 149

D JIE 6,461 X8RIX15A12tX12&=9,304,000&
Js9=

B 5,887 X221 X15A12tX12&=2,120,000&

D JIE 5,794 X201 X15A1 2tX12&=2,086,000&
JIs102

B 5,326 X421 X15A1 2tX12& =3,835,000&

D JIE 5,242 X4Q1X15A1 2tX12&=8,775,000&




(1242) 3| H & el

NIAIEE: (110) el 4]

[H12tA] (

m

ra
0

A =

|

P

O

D88 9,622 X12IX15A12EX12E =1,

732,000

D JIE 9,471 X12IX15A12HX12E8 =1,

o 38 8,165 X4QIX15A1 2tX12& =5,

705,000

879,000&

D JIE 8,036F X42IX15A1 2HX12E =5,

D88 7,325 X72IX15A1 2EX12E =9,

786,000

230,000&

D OJIE 77,2103 X72IX15A1 2EX12& =9,

88 6,564 X32IX15A12tX12& =3,

085,000

545,000&

D JIE 6,461 X32X15A12HX12E =3,
s9=

o 38 5,887 X12IX15A12EX12E =1,

489,000

060,000&

D JIE 5, 794FX12IX15A1 2HX12E =1,

Js10s

043,000

 BF 5,326 X12IX15A12HX12&8=959,000&

D JIE 5,242 X1QIX15A1 2tX12& =944 ,000&

H2f = A Tt

ol

27

93

145

56

17

15

12




(1242) 3| H & el NIAIEE: (110) el 4] [H12tA] (

m

P
0

&t £ |

P

D EE 9,622 X12IX15A12tX12&=1,732,000&

D IJIE 9,471&X12IX15A1 2tX12& =1,705,000&

o BE 8,165 X5QIX15A1 2tX12&=7,349,000&

D JIE 8,036& X5QIX15A12tX12&=7,233,000&

D838 7,325 X6 X15A12tX12&=7,911,000&

D IJIE 77,2103 X6 X15A1 2tX12&=7,787,000&

B8 6,564 X32IX15A12tX12&=3,545,000&

D JIE 6,461 X3QIX15A1 2tX12&=3,489,000&

o BE 5,887 X12IX15A12tX12&=1,060,000&

D JIE 5,794 X1QIX15A1 2tX12&=1,043,000&
Jlsbs

B 8,165 X221 X15A1 2tX12& =2,940,000&

D JIE 8,036& X2QIX15A1 2tX12&=2,893,000&
Jsrs

D BE 7,325 X401X15A1 2tX12&=5,274,000&

27

116

124

56

17

47

13




& (1000) B BIY 2 (1200) LU HY] 8 (1240) T 2 & HIB: (1242) 51 H 2I2) HIKIEE: (110) 0124 [H12H] (S &8
J| S _ _
2t = L YT & &t = ) x
- 82
L IE 7,210 X421 X15A1 2bX 1281=5, 192, 0002
o582
© BE 6,564 X521 X15A1 2tX 1281=5,908, 0002
- 93
© JIE 6,461 X521 X15A1 2tX1281=5,815,000%
5102
© BH 5,326 X121X15A1 24X 1281=059, 000!
- 15
I 5,24221X19IX15Al 20X 122 =944, 0002
O =2
- zn2R4Y
52
A 90,6222 X10IX15AI 20X 128 =1,732, 0002
- 27
JIF 9,4712X10IX15AI 20X128=1,705, 0002
A 8, 1652 X50IX15AI 2 X128 =7, 349, 0002
- 116
J1F 8,036 X52IX15AI 20X 128 =7, 233, 0002
=
2N 7,325RX82IX15AI 2 X128 =10, 548, 0002
- 165
DI 7,21021X80IX15A1 20X 128 =10, 383, 0002
3
A 6,5642X501X15AI 2HX 128 =5,908, 0002
- 93

14




(1242) 3| H & el

NIAIEE: (110) el 4] [H12A] (

m

P
0

&t £ |

P

S IJIE

6,461& X5QIX15A12HX12&=5,815,000&

ls8=s

=F

6,564 X12IX15A12EX12&=1,182,000&

P

6,461&X12IX15A1 2tX12&=1,163,000&

JIs1028

g

5,326 X121 X15A1 2EX12&=959,000&

c Il E

A CH
T

5,242 X12IX15A1 2tX12&8 =944 ,000&

o

9,622 X12IX15A12HX12&=1,732,000&

9,471&X12IX15A12HX12&=1,705,000&

8, 1653 X3 X15A1 2kX12&=4,410,000&

8,036 X32/X15Al 2tX12&=4,340,000&

7,325 X521X15A1 2tX12& =6,593,000&

7,210 X521 X15A1 2t X122 =6,489,000&

6,564 X4RIX15A1 2HX12& =4,727,000&

6,461& X421 X15A1 2HX12&=4,652,000&

19

15

27

70

104

75

15




(1242) 3| H & el

NIAIEE: (110) el 4]

[H12tA] (

m

ra
0

&t £ |

B

=92

o B8 5,887 X12IX15A12tX12&=1,060,000&

D JIE 5,794 X1QIX15A1 2tX12&=1,043,000&

JIs102

B 5,3263X12IX15A1 2tX12E =959, 000&

& 9,622 X12IX15A1 2tX12E =1

, 732,

000&

9,471&X12IX15A1 2tX12& =1

8, 1653 X32IX15AI 2tX12& =4,

, 705,

410,

000

000&

8,036 X32IX15A1 2tX12& =4,

7,325F X3RIX15A1 2tX12&8 =3,

340,

956,

000

000&

7,2103X32IX15A1 2+ X128 =3,

6,564 X3CIX15A1 2tX12& =3,

894,

545,

000

000&

AP

6,461 3 X3CIX15A1 2tX12& =3,

s8s

489,

000

17

15

27

70

62

56

16




m
0
Pl
0

(1242) 3| H & el NIAIEE: (110) el 4] [H12tA] (

&t £ |

B

B 6,5643X12IX15A12tX12& =1,182,000&

- 19
© JIE 6,461X121X15A1 20X 128=1, 163,000
O sIl=HE
- ZR2R4Y
X & 2
DA 9,434RAX1QIX15A1 24X 128 =1,699,000%!
- 27
L I 9,28521X12IX15A1 2tX128=1,672,000!
Xl = At
L BE 7,148 X2201X 15 2HX122 =28, 307, 0002
- 444
© JIE 7,036 X2201X 15 2 X122 =27, 863, 0002
S H7ZAY
© A 7,325RX12IX15A 2tX128=1,319,000%!
- 21
L JIE 7,210 X121X15A1 2bX 1281=1,298, 0002
93
© BH 5,887X121X15A1 20X 128=1,060, 0002
- 17
L I 5,79421X121X15A1 2tX 128 =1,043,000!
5102
© BH 5,326%X221X15A1 2tX128=1,918,000%
- 30

D JIE 5,242 X221 X15A1 2tX12& =1,888,000&

O
HI
[
1o
U
0




&5 (1000) 2 EHe & H] 2+1(1200) L EHEY A H] 5t (1240) P & & Mgt (1242) 3 H 2t 2l M (110) 0124 ] [H1ZA] (29 M
p) s _ _
nj; = Gl & o8 ol AF o S = ay = | =
52
D AR 9,6222X10IX15A 2HX 122 =1,732,0002
- 27
D JIE 9,471RIX10IX15A1 2+X 128 =1,705,0002
2
L AX 8,165 X50IX15A1 2HX 122 =7,349, 0002
= 116
 JIE 8,036 X501X15A 2X 122 =7, 233,000
2
D AE 7,3252X110IX15A1 2tX 122 =14, 504, 0002
= 208
D JIE 7,210 X1101X15A1 2tX 122/ =14, 276,000
=
L AE 6,564 X2401X15A1 2tX 128 =28, 357,000
= 445
D JIE 6,461RIX2401X15A1 2HX 122 =27,912, 0002
92
L AH 5,887X260IX15A 2tX 128 =27, 552,000
= 436
D JIE 5,794R1X2601X15A1 2HX 122 =27, 116,000
= N6
D AH 8,165 X190IX15A1 2tX 128 =27, 925,000
= 441
: JIE 8,036RX1901X15A1 2HX 122 =27 , 484,000
582
D AE 6,564 X10IX15A 2EX 12 =1, 182,000 2
= 19

18




(1242) 51 H 22| HIAIE:(110) Q124 ] [H12A] (2 &
ay £ | =

D JIE 6,4613X12IX15A12tX12& =1,163,000&
Js9s

B E 5,887 X2QIX15A12tX12&=2,120,000&

D JIE 5,794 X221 X15A1 2tX12& =2,086,000&
JIs1028

 BE 5,326 X3IX15A12tX12&=2,877,000&

D JIE 5,2423 X3QIX15A1 2tX12&=2,831,000&

D EE 9,622 X12IX15A1 2tX12&=1,732,000&

DOJIE 9,471 X1QIX15A1 2tX12&=1,705,000&

o BE 8,165 X2QIX15A1 2tX12&=4,410,000&

1,517
D JIE 8,036& X2QIX15A1 2tX12&=2,893,000&

» BE 7,325 X32IX15A1 2tX12& =3,956,000&

D JIE 7,2103 X32IX15A1 2tX12&=3,894,000&

B 6,564 X421 X15A12tX12&=4,727,000&

1,238
D JIE 6,461 X3QIX15A1 2tX12&=3,489,000&




ZH:(1000) L Bt A H] 2t:(1200) L BHa A Y g (1240) e E NIgt: (1242) 3| Al 2tel NIAIE :(110) el 24 [H1ZAM] (SIS
=2 OH % 3 = ) = =

O o&

I

Js1028

838 5,

3263 X121 X15A1 2tX12& =959, 000

 JIE 5,

: Dorlx‘i 87

2423 X1RIX15A1 2EX128 =944 ,000&

165& X12IX15A1 2 X128 =1,470,000&

JIE 8,

B8 7,

0363 X121 X15A1 2tX12& =1,447,000&

3253 X12IX15AI 2 X128 =1,319,000&

S J1E 7,

- 88 6,

210& X121 X15A1 2tX12E=1,298,000&

5643 X121 X15A1 2HX12&=1,182,000&

cJIE 6,

s9=

- 88 5,

4613 X12IX15AI 2EX12& =1, 163,000&

8873 X121 X15A1 2kX12&=1,060,000&

 JIE 5,

Js10s

: jég 5!

7943 X12IX15A1 2tX12&=1,043,000&

3263 X121 X15A1 2tX12E =959, 000&

JIE 5,

0l 2 & Al

—/
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O o 2L (MRAEA, )

- 2,000,0002 X 2CH = 4,000
O B4 FU(2a2x, s8)

- 300,0008 X 2CH = 600
O 28 81y PSS, ASXH)

- 45,000,0008 X 2CH = 90,000
O MEXZ L LIS (sS)

- 41,000,000 X 1CH = 41,000
O #ENY PY(HL, Aot 2

- 20,000,000 X 3CH = 60,000
O geLARY U (=Y)

- 20,000,000 X 1CH = 20,000
O LYES Y2BAAY A2 HA(A2)

- 250,0002 X 50H = 1,250
O EAXA UAYIA TVRY(SY, A

- 500,0008 X 2CH = 1,000
O 3oASET P (SFA)

- 200,0002 X 154 = 3,000
O HICIQ ZTZHME [QI(2ha)

- 6,000,000 X 14! = 6,000
O HICIL Stoict(6mm) 7 - 23221

- 5,000,000 X 1CH = 5,000
O AlR2oAXt DH (ML)

- 200,000& X 20H = 4,000

O TV 7=, of &)
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NIEt: (1243) TH At 2te| NIAIE: (220) REAIAFS [H12A] (

m
0
Pl
0

2t Al == p) =
- 500,000& X 204 = 1,000
O ZMAX 2L (HIAA)
- 25,000& X 1004 = 2,500
22 7L (o3 LH2EFE)
- &I
300,000& X 504 = 1,500
- HI=D|
15,000,000& X 1CH = 15,000
O =Z8lgz 24 A2t WH
- 500,000& X 1094 = 5,000




& :(1000) 2 Ere | 2h:(1200) 2 Bt H H e (1240) SR A E Mgk (1244) & #=2te NIAIEE: (120) 3 & &= Z H (M2t ] (St E &
J| S _ _
n = L YT & &t = ) x
1244
=2 77,380 69,380 ,000
100
& a0l &t 77,380 69,380 ,000
120
doH 77,380 69,380 ,000
201
g ot= 3l 54,480 48,480 ,000
54,480 48,480 ,000]01 et23dl
O NIA Mg ==& M
- 60,000& X 508 A = 3,000
O MeXg =301 (PDA) 2L
- 3,000,000& X 14 = 3,000
202
o4 I 19,900 17,900 ,000
19,900 17,900 ,000]01 =W O4HI
O NZA Mg ==
- 2L
& 20,000&X421X120€ = 9,600,000&
= 1,600
JIE 20,0003 X401X100&€ = 8,000,000
i
2 & 50,000&X401X32& = 6,400,000&
N 400
JIE 50,0003 X401X30& = 6,000,000&







